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Time allowed for the test: 50 minutes
HIBZEFRE - 50 938

Instructions:

1. This test contains two sections:
Section A: Questions 1-30
Section B: Questions 31-36
Answer ALL questions.
Write your answers on the answer sheet.

Write your name, class and class number on the answer sheet.

o k~ N

You may do your rough work in the blank space of this test
booklet and there is no need to rub it out after the test.

6. You can use a pencil or a black/blue ball pen to answer the
questions.

7. The use of calculator is not allowed.
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Note:
Not all diagrams are drawn to scale.
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SECTION A (60 marks)

Choose the correct answer. You only need to
write down the letter preceding the selected
answer.
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1. The price of a bottle of coke is
$24. A reduction of $72 is given
to the purchase of a box of 12
bottles of coke. By how much is a
bottle of coke cheaper on

average?

A. $2 On average, a bottle of coke is
cheaper by

72+12
Bso 2

C.§16
D. $48

1. #3537 #en8 i £824 - MpLY
- £ 12 FgT & FOERG
$72 » TinE FLT HIL ¥ O
b ?

AL §2 woE T s
72+12

Blso -

C.§16
D. $48

2. The price of a notebook is $32.
One extra free notebook will be
given for buying 5 notebooks.
Miss Chan needs to buy 25
notebooks, how much should she
pay at least?

A. $64( One extra free notebook will be
given for buying 5 notebooks. Sq

only the price for 21 notebooks
$672 should be paid for buying 25
notebooks.

C. $768 She should pay at least

32x21
D.$800

2. - R Aol 28320 B

5% fé]‘jﬁ?%——A OEJ
TREE 25 AT e o WA
455 9?
A. $640 BER S AT IEChER - A > T
PER 25 AA ek n i 21 Aep
Bsc2 i+
N N
32x21
C.$768 o
D. $800




3.

All factors of H are:

1,3,13, H
Which of the following is not a
multiple of H?

B
B. 78
C. 117
D. 156

H=1xH
=3x13
H=39

The multiples of 39 are 39, 78, 11

7, 156...

3.H 7 Flicd
1~3~13-H
T R— A B H iR He?

H=1xH
=3x13
H=39

39 etz fcy 3978117 »

4.

6,8,9 are used to form the

smallest 3-digit number which is

a multiple of 8. Each number
should not be used repeatedly.

What is the H.C.F. of that 3-digit

number and 967

A. 12 Arrange the 3-digit numbers formed
from the smallest to the largest: 689
698, 869, 896, 968, 986.
B.28 The multiples of 8 must be even
numbers.
32 896+8 =112, 968+8 = 121

A. 12 ez mied |3 AR5 E
689 ~ 698 ~ 869 ~ 896 ~ 968 ~ 986 -
B. 28 8enigdi- Ao

896+8 =112 » 968+8 =121
K&

oAz d? 0 8 chbo) i ik

The smallest 3-digit number which 1s £ 896 -
D. 96 a multiple of 8 is 896, D. 96 8[89% 96
8896 96 4212
41112 12 28 3
28 3 8x4 =32
/x4 =132 #7120 896 4w 96 e H.C.F.&_32 -

So the H.C.F. of 896 and 96 is 32.
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5. The above figure is formed by 2
regular hexagons of the same
size. What fraction of the whole

figure 1s shaded?
2 L
A. = The whole figure can be divided i
3 equal parts. There are 4 shaded par
1  The fraction is:
B.5 4_1
2 1273
I l
3
D. =
" 14

to
Its.

2
12 A = KEBERTAX 2% KE
3 a4 spps
| L4 ]
B. 5 wEHD T =3
I :
3
D 3
14

1
6. There are 23§kg of apples in the
5
fruit shop. The peaches are 5§kg

lighter than the apples. What is
the total weight of apples and

peaches in the fruit shop?

5
I 40§kg The total weight of apples
5 and peaches is
B. 41¢kg 2%“3%_5%
3 - 40%(kg)
C. 503ke
7
D. 51 8kg

1
6. -k % i3 H % 23gkg o 4

5
LL;};FT‘-‘%") Sgkgofj(.‘;t}'é'})’;l;'

$ AR 50

5 KEEP E G S b 3
= SR I i
I408kg 1 1 5

5 23§+23§—5§
B. 41§kg = 40§(kg)
3
C. 50gkg
7

D. 51§kg




7. What is the least number to be

added to 7642 to make it a 5-digit

odd number?

A. 2358  The smallest 5-digit
odd number is 10001.
The least number to
l 2359 be added is
10001 — 7642
C. 2459 =2359
D. 3468

7. 7642 B b B A b 504 H - B
I HE#?

A. 2358 ) ¢hi =8 #L 10001 -

N
10001 — 7642
Blosso 1000
C. 2459
D. 3468

8. What is the result of multiplying
the smallest composite number
and the largest 2-digit prime

number?

A. 198 The smallest composite
number is 4.
The largest 2-digit prime

8. Bo| g & dicfedk A mF
FAp kg kL5007

A 198 Bt sEeia
Bt A BT 97 -

B. 291 number is 97. B. 291 BT Is
4x97 = 388
@ 3ss B 3ss
D. 396 D. 396
9. The weight of a baby is 3.25kg, 9. B2k &€ ¥ 3.25kg L 4
and the nurse wrote it as 2.35kg B 235kge A B T3 endkiE
by mistake. What is the A5

difference in value between the
two ‘3°s?

A. 0.27 The difference in value
between the two ‘3’s is

3—0.3
B.0.7 1.
C.13

B2y

A.027 & "3, i L
3—0.3

B.0.7 =27
C. 13

B2




10. What is the sum of the smallest 10. #3500 = 3800 z ¥ > st 4% 3
and the greatest numbers that are L g fod < ez, fo il
divisible by 3 between 3500 and e
38007

l7299 3501:3+5+0+1=09, l7299 3501 : 3+5+0+1=9"
3501 is divisible by 3. 3501 ik 3 B o
B. 7300 3799:3+7+949=28, B. 7300 3799 :3+7+9+9=28
’ 3799 is not divisible by|3. ) 3799 % i Ak 3 H% -
C.7301 " Lok vt by C.7301 L
D. 7302 3501+3798 = 7299 D. 7302 301+3798 = 7299
E i 1 i e P, T N N
11. If g Is converted into mixed 11. &4 §xb ES WAS ' JE R WA ‘]
. 4
fraction, it is between 2§ and o 231“" 231 ¥ o T 3|vR— ik
8 : -
24 - Which of the following is ¥ 5. &P g Q
a possible value of P?
A. 20 A4 _22 .8 26 A. 20
9792979
2 P26
B. 22 S<g<Y B. 22
l 2c 22 <P <26 l o5
D. 27 D. 27
v 56 v v 56 v

12.1f g = 7,7 and g isan 12, 4eseg = 50 2 gEEA Ho
improper fraction, what numbers TR ioew i AP A ?
can ¥ and ¢ be?

A.¥v=4,4=126 A. g = g,aproperfraction. A.vY=4>6=126 A % = g’ A 3
B.':7,0:72 B.gzg,aproperfraction. BY=7>e=72 B-g:%’—”\ﬁi
v 14 56
C.w=14,4=32 €55 3 Cw—l4r6=32 C3-93
L Y_28_ 56 v 28 56
Ble-28e-18 "9 9 Wo-2 0-13"° 7
BATREAIH B L (] 4) 7



13. Jack has 29 $5 and §10 13. 2 57 $5 fo$10 A2 %7 H-ik
supermarket vouchers altogether. XX 2035 > v i ES190 o
They are worth $190. If Jack has Yo%k A 5 810 R F XL §5
11 fewer $10 vouchers than $5 XU IL%E S 3 S X
vouchers, how many $5 vouchers bR ?
does he have?

A.9 A.9
$5 vouchers | ‘ }(29+ i $5 % X | } L 0911
S vovehers [T v | " b s [
20 20
He has #3385k X
29+ 11)+2 (29+11)+2

D. 25 = 20(vouchers) D. 25 =20(5&)

/ Sunny Stationery Shop \

Crayons (per box)
WA (5 £)

Buy one box and get on

\FHF -4 FE-EP A

Bk B

$48

e extra postcard.

J

14. Customers can get one postcard
by every spending of $50 in
Sunny Stationery Shop. Joseph
bought 6 boxes of crayons, how
many postcards did he get
altogether?

Joseph had spent $(48%6).
48x6+50=15...38

Joseph got 5 postcards for the amo|
he spent. In addition, buying one b

A.S

B.6
@ u

14, 2k~ 2% >

$50 7 JEF - kP
1
£

-

)

Iy
7o

5k 7

A. 5 AFF 1 8(48%6) -
48x6+50 = 5---38

B. 6 SR pHEFTRSENRL Y
ks g N E Y - g

unt
0):¢

¥ -

-

(S)(f;reaég?s can get one extra postcdrd, l " R YR R
546 = 11(postcards) 5+6=11(5%)
D. 12 D. 12
BATRAIH B 5 (] 4) 8



15. Which of the following has the

largest value?

A.554+54+0.05 A. 10.55
B. 60.1
C. 60.55

B.55+5.0540.05 D 2608

@ 55+5.05+0.5
D. 55+0.5+0.55

15. T 7|oR— JE g B~ Y

A.5.545+0.05
B. 55+5.0540.05
@ 55+5.05+0.5
D. 55+0.5+0.55

16. Amy packed some cookies into
boxes of 15 each. After packing,
there were 15 boxes of cookies and
10 cookies left. If she repacked
them into boxes of 18 each, how
many cookies would be left?

(15%15+10)+18
= 13(boxes)...1(cookie)
She packed 13 boxes with 1 cookie
left.

A. 13
B.9

C.3
Bl

16, 4hotds — 2w 35 15 K %
£ x¥v %15 ¢ > ﬁ“"f?_r 10
. o ﬁr'%wké”;:r,\f* 18 5.
£ o Pipd 5 ERTe é’
AT f;',ﬂa‘?

A. 13
B.9

C.3
Bl

(15%15+10)=18

= 13(4)1(5%)
NEE S BEEEE SRR

17. Car P 1s 10m to the south of Car
Q. Car R is 10m to the east of
Car P. In which direction 1s Car

R from Car Q?
l southeast N
A
B. northeast Car Q

10m

$——* CarR
10m

C. southwest  cap

D. northwest

17. 58 P 4378 Qhs = 10m >
CHRAK D Pehd 2 10m o
T3 R AFD Qawr- = 9

l s N
A
B. & A w2 Q
10m \\\
Caé‘ 2Pt ? R
D. o #




18. If all of the above five plastic
sticks are used together to form a
quadrilateral, which of the
following quadrilaterals can be

) 8cm

18. ‘&f’a‘ F\»:'Ei:f% # J‘/.__!’ ﬁ’17 |l_,. 5/17}'1;;
- B F oLy
TV)’KEW@I‘;?

formed?
. rectangle L dem _dpm L &3
II. parallelogram " dgem I T T B4
I1I. trapezium 8cm I1. #7;

II: 4cm _4cm

I I and II only 4cm{ /40m I ry 12 10
B. I and III only germ B. ¥4 12 I
C. II and III only C. 3 1121
D. I, II and III D. I~11% III

19. Judy draws a straight line across
a rhombus and cuts it into two
shapes. Which of the following
groups of shapes can she get?

A. parallelogram and

trapezium

B. square and triangle

l trapezium and triangle \

D. two rhombuses

19. Kb - BEAH - FER
FU LA BRI ok T LE

Ay V}’K:@_EL]%]Q; ?

’

A Aol

B. & *Afr= &7
| [EEIESEEE
D. & B %7




( ] 6cm

( ]  6cm

( ] 6cm

20. Which of the following triangles [20. * 2} H ¢ = 4 A 457 U 3H =

can be formed by using three of TR/ = & A5 9
the above wooden sticks?
I. isosceles triangle L Z%= 47
I1. equilateral triangle I 2:F= 47
I1I. scalene triangle I * %:F= &3
[.6+6=12,12<15| an isosceles L. 646=12>12<15> 2+

Al only triangle can not be|formed.
II. Three wooden sticks of the

A.
l 11 and 111 only same length can fofm an l "

C.

D.

pat

= -

I DI = ST

I =& BAp A s 2
II fo [les == 5 -

ML 6+12=18>18>15> ¥
[fe Il s ESC N SR

equilateral triangle|
III. 6+12 =18, 18 >|15, a scalene
C.TandII Ol’lly triangle can be fofmed.

D. I, Il and III [~1I4-III

Scm S5cm Scm

Scm Scm
21. Which of the following figures 21. TAVR- FARA;R T d st
cannot be made by fitting the B HEHE L9
above three pieces of plastic

1X

board together?

A. trapezium A TN
B. rectangle 5

A
B
C. parallelogram C
NN
l square l Nl




22. The perimeter of a rectangle is 22, £ 2 A5e0% R E_36cm e ek £
36¢cm. If its length is twice its RARBRT2E > &L
width, what is the area of the g fFAE_F DD
rectangle?

2 The sum of the length and width of ) EAmERERRZ I
A‘ 36cm the rectangle is: A 3601’11 36+2 = 18(cm)
) 36+2 =18(cm) LERABAREGD2E UL R
l 72cm The length is twice the width, so the l 720m2 TRARZIEBAE S B
sum of the length and the width is 3 £ AR A
C. 162CII.’12 times t.he width. 1 C. 16201112 183 = 6(cm)
The width of the rectangle ig: I PRV
, 183 =6(cm) N -
D. 288cm” The area of the rectangle is: D. 288cm~ (6x2)6 = 72(cm”)
(6x2)x6 = 72(cm?)

2cm /_—\-\\T{

bocoooboocoodocoooobosoood)

lécm | r----- w ----------------- L ----- ------ L -----
om | L
------ R i '
L demi
20cm i
23. Two rectangles of the same size 23. B B X AP R R B AT B
are placed together. Parts of them —deH He Mo ddp, ¥ 93
are overlapped and a white v od FRAL s ot BT o AR
portion is cut away as shown in A chm fF A 0
the above figure. What is the area
of the shaded part?
A. 636cm? A. 636cm?
B. 496¢m? B. 496cm?
B 492cm? B 402cm?
D. 316cm? D. 316¢cm?
Area of the shaded part IE RN o ff
= Area of a rectangle X2 — Area of the overlapped part = £ 0 Q- A G A —0 ¢ 4G A
— Area of the white part Edpins - B2 A 5 v ek A 4x3=12(cm)
The overlapped part is a square. Its side is: 4x3 = 12(cm) B MAE - B vendE F 1 4-2=2(cm)
The white part is a square. Its side is: 4 —2 = 2(cm) L R4 e g A
The area of the shaded part is: 20x16x2 — 12x IQ—ZXZ = 492(cm?)

20x16x2—12x12—2x2 = 492(cm?)
B ATALAIH B 5 (] 4) 12



24. The above figure is formed by 21
squares of the same size. The area
of one square is 36cm?. What is

the perimeter of the above figure?

A. 60cm 36=6%6

The side of each square is 6¢

m.

24, ' BIEA 21 B ) AR T

;; D 2= 2 __;,;r/—r |2}
A > & B A g A

Ty
7o
.

A.60cm 36=6x6
&1 > A0u8 k2 _6cm o

l 120cm T}(lgxp;iirngit;)rxozfthe above figure is l 120cm ',-jé rflj}éﬁ;% ?L 7
=120(cm) :( )

C.252cm C.252cm ~ 120m

D. 504cm D. 504cm

w X Y Z

25. Which of the above figures has
the shortest perimeter?

AW W>X>Y>7Z

B. X

C.Y
Bz

25. 1 PR @A B2 b e

19

AW
B. X

C.Y
Bl z

BTN H E L () 4) 13



P
26. In the above figure, P and Q are TR P QA > A
squares. The areas of P and Q are TG ff A B A 16cm? fr
16cm? and 64cm? respectively. 64cm® o FEF IR A cni G Ff AL
What is the total area of the 509
shaded part?
l 64cm? 16 4x4 l 64cm? 16 =4x4
The length of a side of the square P A5 P e £ E 4em o
2  isdcm. 2 64=8x8
B. 80cm® /"0 B. 80cm 335 Qéuf & £ Sem o
The length of a side of the square Q 8- L YA Sk
2 . 2 =R »-wumfﬂk
C. 128cm 1S 8cm. ) C. 128C1n (4+8)><(4+8)* 16 — 64
The total area of the shaded|part is — 64(cm?)
D. 144cm? (48)<(4+8) - 1664 D. 144cm?
= 64(cm?)
BATITZH 5 () 4) 14



16cm

A

v

32cm
27. The above figure is a rectangle of | 27. * Bl & - # & 32cm > B 16cm
32cm long and 16cm wide. Jane E A RIS ERPE VA
cuts along the dotted lines and 3 8B ] Ap e > A5
divides it into 8 squares of the FpHY 6BLEAHEF -
same size. Then she puts 6 of the BATEA, > 4T BlATT o i B
squares together to form a new @A e R E G0 7
figure, as shown below. What is
the perimeter of the new figure?
A A
A. 48Cm  The perimeter of the new A. 48cm =B iTEA 0 B2
figure is (16+2)x3x4
B. 64cm  (16:2)x3x4 B. 64cm = 96(cm)
=96(cm)
C. 84cm C. 84cm
l 96cm l 96cm
B AT H L5 (L 4) 15



Sales of the Canned Fruits Yesterday
PE R PR % 4 8p hl §

350
300
250
=& 200
7 i
;‘; . 150
100
0 Yellow peach Strawberry Orange Cherry
¥E W L3
Types of Canned Fruits
K 5 HEER AN
28. According to the above graph, 28. 1345+ B 0 0T OR— 3E R
which of the following is correct? 19
A. The total sales of canned A. k%R HEE R
fruits were 900 cans. 900 # -
l The sales of two types of l F 2 f8oK * AEER sl E
canned fruits were more Az 1§ 200 #¢ o
than 200 cans.
C. The difference between C. &5 F frd ek %
the highest and lowest #EEp AP £ 250 4 -

sales of canned fruits
were 250 cans.

D. The sales of the canned
orange were half of that
of the canned cherry.

4.;
\F‘

AR

ﬁxm
\91

A.250+3004200+ 100 = 850
C.300—100=200
D. 200+100 =2

BATATAH X () 4) 16
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The Favourite Subjects of Long River Primary School Students

SR S et Y Nk il

100

90

80

£2 0k

Number of students

70
60
50
40
30
20
10

Chmese English Mathematlcs General Studles
N P p
Subj ect
#

29. By the one-student-one-vote
scheme, students of Long River
Primary School voted for their
favourite subjects and the result
was given above. It was known
that 8 students were absent from
the voting and there were 156
boys in Long River Primary
School, how many girls were
there?

A. 142 There were

70+604+95+75+8—156

B.146 ~ 152(girls)

20, Eip | BB A4 - A L b

SRR E S e,
Blded o C S EE R 8
LEAGRRE F T E]
H£r4 156 L9 H4 5 F L H
2 ?

9

5u

e

A 142 3+%2

70+60+95+75+8—156

B.146 ~!52(%)

17



Sales of Juice in the Past Five Months

4T B0 e g

900
800
700
2~ 600
(oF
3E 500
8% 400
3 300
200
100
0
January February = March April May  Month
—n - B 7 ¥ 78 LEEON
30. The staff wanted to use the above | 30. /& i T F* + Bk £ 183 7
graph to show the sales of juice in BRI vk Ltk
the past five months. However, he g el Pkt HE o o
forgot to indicate the sales of ripd TR e e E A
juice in April and May in the 300045 » @ & 7 % &gl £
graph. It is given that the total Fw?m3 70 &gt

sales of juice in the past five
months was 3000 cups, and the
sales of juice in May is 3 times
that in April, how many cups of
juice were sold in May?

The total sales of juice in April and May is:

545 2

S N L e

A. 300 3000—700—600— 500 = 1200(fups) A. 300 3000—700—600—500 = 1200(+F )
The sales of juice in May is 3 tirhes that in ITEEFHEEe Y 3 B
B. 600 April, so the total sales of juice in April and B. 600 i SEERREE S cE N -l

May is 4 times that in April.
The sales of juice in April is:
1200+4 = 300(cups)

The sales of juice in May is:

D. 1200 300x3 = 900(cups)

PR S A
T R S N
1200+4 = 300(#5)

D. 1200 7 » &+ aps 8
300%3 = 900(+#)

End of Secion A

B2

18



SECTION B (40 marks)
Working steps must be shown in answering
questions in this section unless specified

z 3 (40 &)
RAFEERE o e ¥ AIRE AR

7]

"]":“L_’;E_l: j'b'% o

a2
otherwise.
Scm
3cm
Figure 1 Figure 2
- B =
31. The plastic sheet in Figure 1 is 31. Bl- e F Ed - B >332
formed by one square and four =) oAk dp e oahR 3 A
rectangles of the same size and EEd o ATRINY R TIB
shape. Nancy used this plastic =~ Bl= g+ e
sheet to fold into the box in
Figure 2.
(a) In Figure 1, what is the area (a) Bl- ¢ HB R ha fF AT
of the plastic sheet? S [4 %]
5%x5+45%x3%x4 [4 marks] 5%x5+5x3%4
=85 =85
The area of the plastic sheet is 85cm?. W5 s ff 2 85cm? o
(b) In Figure 2, the capacity of (b) Bl=- ¥ » iz gF Tz E
the box is 75mL. If Nancy H_75mL ° 4ed STk * T
uses it to hold 500mL of B¢ 500mL e = i > 44 B
liquid soap, how many boxes VYRR UED
can be fully filled at most? [4 5]
500+75 [4 marks] 500+75
=6...50 =650
6 boxes can be fully filled at most. BEITEROE o
B ATALAIH 5 (] 4) 19



32. The above shows the prices of the

Electric kettle

Membershlp price

®ok
$214.90

vacuum cup and electric kettle in
a department store. Holders of the
membership card can enjoy the
membership price, but it could not
be used together with any other
promotion offers. My father
wanted to buy one vacuum cup

and one electric kettle,

(a) If my father had the
membership card, how much

should he pay?  [4 marks]

89.6+205.2
=294.8
He should pay $294.8.

(b) The department store held a
promotion and gave out
vouchers of $20 each. A
customer could use one
voucher for any purchase up
to $300 or more. Should my
father use the voucher or the
membership card in order to
pay less? (Give the answer

only) voucher [2 marks]

32.

R AP R ATk

(@ 4wk iFF §HF
s I E 7 [44]
89.6+205.2
=294.8

5 & 1 30$294.8 -

(b) —[5? SRR EFRA SR
I g & 5k l% @520 et #*
% “HEPRE300 0 TV
i * F X -5k o {3
o o§§ e o XE
{gﬁ—{“j?
1%@ 2(F B

P {8 o e
&Ag{.)

[2 ~]
I
i R XU 3
96.4+214.9—20=5$291.3 » 291.3 <294.8

If he uses the voucher, he should pay:
96.4+214.9—20=8291.3,291.3 <294.8

BATIAH E5 (] 4) 20



33. Amy used 16 equilateral
triangles of the same size to form
the shapes in Figure 1 and
Figure 2.

Figure 1
g]._
(a) If the perimeter of Figure 2 is
24cm shorter than that of
Figure 1, what is the perimeter

of Figure 2? (Give the answer

48cm

The perimgtgrlyf)Figure 2 is shorter thz[n2 tt%}%{;lﬁsgne 1
with (12—28) equilateral triangle sides.

The side of an equilateral triangle is: 24+(12—8) = 6(cm
T By tRe Figlie 21 changed into
a quadrilateral, what kind of
quadrilateral should be
obtained? (Give the answer

33. 3 3% 16~ ApFcnE =
£75m % Bl- 2 Blo A5k o

Figure 2
B =

(@) 4ok Bl % K Bl- %
A@e24cm> Bl- % R RS
SO(S AR ER)

[2 ~]
48cm
Blo % fot Bl- dre(12—8)F £ = &2 & o

2z 22508 £ A1 24+(12—8) = 6(cm)
Bl- % R E D 6x8=48(cm)

(b) o do B redi 4 - B if

A0 ¥ U DR e ‘éq/ ?

T 7w 83 [2 A~]

only) [2 marks] /\/\
Parallelogram
D Exit
4
(‘
>N
Entrgnce| A B
~|o
34. The above is the floor plan of the |34. + B2 % 8 £ & F T 5 [ o
food carnival. Miss Leung ran a B REE PR S RS
snack shop in the area B. B -
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34. (a) Area C is in the south of the 34.(a) % C v g > o
Exit. What is the direction of BoldrenE @k Ao
Miss Leung’s snack shop from PR— 3 9 (R B I E %)
the Exit? (Give the answer i@ [2 %~ ]
only) [2 marks]
southeast

(b) Miss Leung put 80kg of nuts (b) Z 4 v F 8 EH T 80kg
5
in her snack shop for sale. FELE AT G 24ke %
5
There were 24§kg of cashews 2, 33%1(:‘:’ B g o Haph
7 : :
and 33§kg of pistachios. The B2z B eeh} &3
rest were almonds. How =% ? [4 4]
many kilograms of almonds 80*243*33%
1
were there in Miss Leung’s -2
T NSO 4 A = l
snack shop? [4 marks] Ehwak iy s 2hie
80—24%—33%
- 21%
There were 211kg almonds in Miss Leung’s snack shop.
(¢) During the food carnival, Miss (c) A28 E2EFYT » 2 | &
7 : . 7 L,
Leung sold 541—0kg dried g 47 541—0kg 2 pogg o
9 . 9 3
beef, 36Ekg dried pork and 361—Okg VI o A 771—Okg %
3 : . L L
771—0kg preserved fruit. What oo & dienp grde % 0 g
is the difference in weight o S [4 ~]
T a2 3
between dried meat and 54130+3610 "o
=147
preserved fruit sold? [4 marks] 10 3
54%%6%_77]3_0 g gofrk o hE RAp 4 ke

:1413—0

3
The difference is 14Ekg.
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35. Mr Wong planed to have the
lunch buffet with his wife and
two sons. The special offers from
Sunny Restaurant and
Delicious Restaurant were as
follows.

35. § A4 3L 328 203
3y p Bt o R ERICE
\?%5’% @’ﬁ ’I‘,('T %'%‘ o

Sunny Restaurant
5t A

$228 each

Half price will be offered to
the fourth person

& +~$228
S DU A g 2 E 18

Delicious Restaurant
ERE

$220 each
Each can get the reduce of $25
when using credit card for payment

% »$220

CLE FRATSC - B ATRS25

(a) If Mr Wong’s family had the
lunch buffet in Sunny
Restaurant, how much
should the four of them pay

in total? [4 marks]

228x3+228+2
=798
The four of them should pay $798.

(b) If Mr Wong’s would pay by
credit card, at which
restaurant should they have
the lunch buffet so as to pay
less? (Give the answer only)

Delicious [2 marks]
At Delicious Restaurant, they should pay:

(220—25)x4 = $780,

which is less than $798 should pay at Sunny R

(@) 4r%F L2 - FAB XA R
R EAIE S e A X
s [4 2]

2083 +228-2

=798
B A KR iG8798 o

(b) 4% F L2 %—g DR It

%5 AvR— B R Bars P

P
B AT Rt ? (R
3% %) [2 4]

Fvh

bEKER EPFH

(220—25)x4 = $780 -
oA kR BT H 8798 e

estaurant.
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Sales of Umbrellas in a Convenience Store from January to May

{lh-" 21" s bl g
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36. The above graph shows the sales
of umbrellas in a convenience
store from January to May.

(a) How many umbrellas were
sold in the first quarter? (Give

the answer only)  [2 marks]

255
80+80+95=255

(b) The convenience store
adjusted the price of each
umbrella from $29 to $33 in
May. The manager believed

April May Month

g 7 R CINES

IR e 2T Ak

el § o

@ %$-F£8dabs g ?

(FRRBNER) [2 ~]
255
80+ 80+ 95 = 255

(b) IR T » B fo & e
G Y820 5833 gL

SR LI S TN

w0 S fn e B R

that the income by selling w08 A & dfor B [4 ~ ]
. 29x75 =$2175 »
umbrellas in May would be TR A e~
33x70 =$2310 >
decreased when compared to 5310 > 9175
that in April. Do you agree R )
with him? Explain.
£4 marksJ
The income of umbrellas in April was: 29x75 = $2175,
The income of umbrellas in May was: 33x70 = $2310,
23102175, End of Test Paper

(Accept any other reasonable explanation)

disagree PR E %
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